LAKESIDE Class Work

ACADEMY Exponents 1
Exponents

I. Solve these for warm-up:
1. 5X5xb5x5= 3. 20X 20X 20x20=
2. 3X3x3x3x%x3= 4. 300 X 300 x 300 =

II. Solve:
1. 34= 6. 05+ 15+ 25= 11. (-3)2 =
2, bl= 7. 3+-92= 12. (-3)3 =
3. 92= 8. 252-1h2= 13.—34=
4. T0= 9. 2442 = 14. (-1)5 =
5. 1003 = 10. 26 — 82 — 43 = 15. (—0)3 =

ITI. Using the laws of exponents simplify the following:
Example: x xy xy x5 xz xx x4 xy=20xyz

1. 2a+3a= 10. y X y2 =

2. 2aX 3a= 11.y X y3 =

3. b+3b+2h= 12. y2 X y2 =

4. b X 3bx2b= 18. y2 X y3 =

5. HaZ+ Taz= 14. b X b5 x 7X b2 =

6. Ha2 x TaZ= 15. 32X x X 3 X x2X x3=

7. 2y2+ 3y2= 16.cXaz2XaXctX92xc=
8. 2y2X 3y?= 17.n3X22Xn X 2% 922xn2=
9. yty?= 18. x20 X 52 X x3 X x27T X 2 =
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I. Solve these for warm-up:
i, IXINIKD = 3. 3Xx3X3x3=
g, ARIKIKIKARD = 4. 100 X 100 x 100 =
IL. Solve:
1. Bi= 6. 43— 82= 11.(-2)2 =
2. 35= 7. 12-02= 12.(-2) 8 =
3. B3 = 8. 54— 252= 13, — 24 =
4. 5i= 9. 122-120= 14.(-2)5 =
5. 105 = 10.34— 33 = 15.(-1)8 =

ITI. Using the laws of exponents simplify the following:

1. at+a= 8. 3aZXx Ha2=

2, aXa= 9. a2+ g3+ g4=
3. b+3b+2b= 10. 32 X g3 X g4 =
4. bx3bx2b= 11. a2 + 2a8 + 3a2 =
5. a2+a?= 12. a2 X 238 X 332 =
6. az xa?= 18.a2+a =

7. 3aZ+bha2= 14. 33 ~ g2 =



